S 4 R
HEBAKEFREKEMAXBELSE (2 LX)

B G BB

5= 1) I e



1. FAAKBMERZELQLK i) (1-1)
A =
i B = = E3
4 wmE KO+ B B -1 BT | BE e
& )
ZOfTES SO [3+7+2+3+5+3+1+2+9+9+8+6+12=70+7=77 77
KA FL ¢ 100X5.0m K
3.4+3.2+1.2+2.6+0.8+2.0+3.8=17.0m =74
HEE
0.9+1.1+1.9+0.8+1.9=6.6m
%
ZOMEES SO [4.5+2.4+0.9+1.9+2.6+1.3+3.3+0.6+2.9+0.7+4.1+1.9+1.0+1.0+1.8+0.8+2.5+3.5+1.4+0.6+1.5+0.7+2.6=44.5m=94 9
KR FL U E ¢ 100X5.0m K
ZOEES SO [0.7Tm=14& 1
KA FL U E ¢ 75X5.0m K
1SO [+142+2+1+3+1+1+1+2+1+2 0.49 18 =8.82m 18
EF J =% X v F ¢ 100 X 45° A
1SO 1+1+1+1+1 0.39 5 =1.95m 5
EF % N v K| $100%X22° 1/2 A
1SO 1 0.40 1 =0.40m 1
EF % X v R ¢100x11° 1/4 1]
1SO 2+2+2 0.48 6 =2.88m 6
EF h =% X R & 75X 45° i
1SO [+1H1+ T2+ 1+ 11 +1+1+1 0.38 13 =4.94m 13
EF [ =% ~X v F ¢ 100 X 45° 1]
1SO 1+1+1+1 0.28 4 =1.12m 4
EF W % N v K| $100%X22° 1/2 A
1SO 1+1+1+1 4
EF Y 47 v b ¢ 100 1
SO 1 1
EF Y 47 v b 075 1
1SO 1+1 »100 0.14 X 2 =0.28m ® 100 0.3 2 =0.60m 2
EF W % F — X $ 100X ¢ 100 1]
1SO 1+1+1 »100 0.14 X 3 =0.42m 675 0.3 3 =0.90m 3
EF W % F — X 6 100X ¢ 75 A
1SO 1 »100 0.12 X 1 =0.12m 675 0.29 1 =0.29m 1
75 A ERE ST — X 6 100X 75 1]
SO SUS 1+1+1 0.42 3 =1.26m 3
EF 7 5 v ¥ % ¢ 100 1]
ISO SUS 1+1+1 0.18 3 =0.54m 3
EF%Z O 77 T ¢ 100 ]
ISO SUS 1+1+1 0.16 3 =0.48m 3
EFZ A7V % ¢ 75 ]
3+3 6
7 5 v Y M FE M ¢ 100 HH.




1. R ARBEMRE L QLK ki)

(1-2)

Al =
# B B E3
71— 4 iNpi T N S B = BHAT| BE | HE

1+3 4

7 T v T M F M ¢ 75 #i
1+1+1 0.86 X 3 =2.58m 3

PEFEL 17 ks — A L8150 6100 P
BT 3E H 3 3

8 K K LA il
AN AGER 1 1

25 (o 5EER) SUS304 7.5k H
L X—R, H=10cm [1 1

i B R ¢ 75 P
1=0.20m 1 1

2 7 5 vy EE DCIP ¢ 75 P
AIFCD600 X 450 |1 1

B A H=900 4
H7I4—h 438.55+5.25+2.58 =446.38 446.4

O O v — b W=150 m
446.38 446.4

% W OorR T — 7 W=30 m
446.38 446.4

By —F AT T LY — m




1. BEKREAZRZTOCTIX EHH) (1-3)
> 2
24 = AT A
——N4 g7 ® & -1 B ¥E | wmE
G ) _
AlE S 70X 5.0+17.0+6.6+44.5=418.1+20.45=438.55 138.6
ARV F LU EHR T ¢ 100 m
HBFEER 8.82+1.95+0.4+4.94+1.12+0.28+0.6+0.42+0.12+1.26+0.54 =20.45
6 100
A 0.7+4.55="5.25 53
AR il A = i e ¢ 75 m
HBFEER 2.88+0.9+0.29+0.48=4.55
675
35 35
RV F L EU T ¢ 100 H
1 1
AU F LT ¢ 75 M
EF (1OfkF)  |77+18+5+1+3 104
AU F U T T ¢ 100 M
EF (10T 6+3 9
AU F U BT T ¢ 75 M
EF (205KTF) 13+4+4+2+3+1 27
AU F LT T ¢ 100 M
EF QIfksF) |1 1
Rz F LU EfFEL ¢ 75 -
6 6
7 7 v T ik F L ¢ 100 5
4 4
7 7 v vk F T ¢ 75 M
6 6
77 v WAL T ¢ 100 5
4 4
7 7 v AL T o 75 5
R 3 3
fE 8 F B @& T ¢ 100 S
3 3
8 F B OE% E T A-BE o
1 1
B L S - A ¢ 75 e
1 1
R AREFE T Yl
446.38 446.4
PR — MR T m




1. FAAKBMERZELQLK i) (1-4)
3 E:
g B 5 A &+
— 14 wmE KO+ B B -1 = BT | BE e

438.55+2.568=441.13 441.1

EHRT S AR L $ 100 m
5.25 5.3

EHRT S AR L ¢ 75 m
446.38 446.4

=474 — 1 m
VP& 441.1/3=148 148

BEEX B i £ B W © ¢ 100 =]
VP& 5.3/3=2 2

BEEX B £ B W © ¢ 75 =]
3 3

8 F M £ T X
3 3

i U] 5f & KK T A-BJE Yl
WL = L& T ET 441.1 441.1

AL T $ 100 m
R = L& LT 5.3 5.3

FEiA A L ¢ 75 m
= 441.13m( ¢ 100HIVPFF) X 3.338kg/m +5.25m( ¢ 75HIVPAE) X 2.156kg/m=1483.81kg 1483.8

BT TAF v I EM Gy B kg
29kg( ¢ 100, {HHIF 134 7-0) X 34 4 66kg(FE BN L& flrdb7-0) X 34t =285kg 285.0

AV kg
1 1

JE | 2t#-15 10kmET [A]




1 RKELET (2T ki) (1—5)

% B At " =

a—p 4 g B R Sk A i %
____________________ O2t L l@2& T|@3L L @+ © & i i ]
[ S - SR T S O BI3EAs ¢ 100|AT5EAs ¢ 100|FTiEAs ¢ T5{RTiEAs ¢ 100 '
______________________ L=5.8m__ ;i L=425.5m | L=6.8m __{ L=9.30m_._ __________i_ i ..
[ W § 1.1V 851.00 i ___ 13.60 ¢ | 1860 & i =i _.894.80| | ___. 890.0; |
7 A7 7 v b Y)W T e10emBAF
_____ BHO.28m!_____| 2191.53 (BZEIEPHMICEY) -4, 92 (AR L LED) 18 O (KB L LEY) =2168.61 = 2168.61) . | 2,169.0
AR OAR OBUBE LB A A t=10cmPL .
MDA 379 4 . 326.78 1 ____ 5.06 1 ] TAA G = 342.77) | 3_%31~_0j _____
R S N : | BHO.28m’ !
_________________________ A2 1043 L LSS 228 = 109:38) e 109.0;
W A 7 LT PR
AR ] 1.08_ & . 127.65_ i 2.04 L0279 G i L. =i 13356 .| . 134.00
B M M R T BHO.28m’ 5
______ RCAOO. | 348 120030 AO8 L B8 il T 28844 2680
T = i 1T t = 25cm i
_______ M25 | 348 | 25530 1 408 . 588 . i T 26844 .| 268.0.
+ = s €L t = 10cm !
FFERERIEAS20F | 2164.55 (SIS /EDAICED) 492 G e R L LED) Z18. 0 (KB L LEY) =2141.63 = 2,141.63) ., | _ 2,142 0 _____
x =l .| t=5cm I@1.4L4 F :
CFEEAREAS200 | 26.98 (GiZERPAICED) =26.98 . To26.98) o 2_7_~_0_§ _____
# & | t=dem 1AL 5
__BHO.28m3_ £ | 271 i . 199.13 i . 3.02 f 485 4 b =i209.21) | 209.01 |
53 + s E T 4t=2km 5
_o.BHO028m® As | . 26.98X<0.04+2141.63%0.05 i .. = 108.16| .| ____ 1_Q8_0_§ _____
7T AT 7V b E T 2t-9.8km ;
MO8 =.108.16| | ____ 108.0: ____
T AT 7 v by :
_______ M=25 .. 2168.617((0.60¢(5.8+425.5+6.0+9.3)) =1900.65 ____________{ . ____ =i 1900.65 . 19010
A ¥ FE T|t=5cm I8 L !
CARRCRREO | B0 =L 5900 6.0, |
ES [E] R T (EH 20em 5
AR A b Gt I | R IR 500 |
X H] o T (ZE#Y) 30cm I




(1—6)

1. Bk E LT (T EifH)

65.70

LENCS IRV

=

AR

CMRACTEREY L 88T0T85.70

o535 15cm

a

FEfR 30cm

T

i

[E0]

T




1 RKELET (2T ki) (1-=7)

= 4 g IR NI ERS WL e & i &

L EAs ¢ 100 | R

D21 T DP=0.9 !
___________________________ O S
________________________ IS o oS 3 - RSO SRS 011 S

7T A7 7 bYW T t=10cmPl F :
_____ BHO.28m' | MERtRICES = s 000

G 45 MUHL B L ORE A | -10emBLF " :
o TREURDA | 0.60 X 1.09. X 5.8 .. =379 .. T 379 |

B B W OHl T BHO.28m’ ;
_______________________ (060 X043~ 013 Xz /4) X 58 = 142 | | 142

W A 7 €T PREERD
I -t =t o 0.60 X 0.31 X _ 58 .= _L08 .. T 1.08; |
B M M R T BHO.28m’

_____ RC40~0____ | . 0.60 X _58 o __...=.348 | o2|...348

T = s i €L t = 25cm m '
_______ M-25 | .0.60 X 58 .= .348 | oa.....348 |

i IE] s i €L t =10cm m '
CFAERIEAS20F | RRNRICE D T 2 | 0.00;_____

% & T| t=dem IELAMLE o 5
__BH0.28m3_ E£® | 319 — 08 =271 .. T I 2_-_7_115 _____

53 + 4 B T 4t=2km :
__BHO028m® As | RRNRICED T T 0.00:_____

T A7 7 J)v b E T 2t-9.8km ,
R e = o | 0.00i |

A 7 7 )V NS :
_______ M-25 | MRRbRCES =000

A B %%  E 1| t=5cm IELSLLE o -

_____________________________________________________________________________________________________________________________




1. BKE LT (2TX EdH) (1—8)
# B = =1 2
a—} P Fr R <P ik BApr| Kk = i &
WA 9100 | L
@2+ T DP=0.9
___________________________ L= 4255 m (176.5+249.0=425.5)
_______________________ 425.5 X2 ..Z8BL00 | . |.-.85L00
7 A7 7V b8 T t=10emBLF :
_____ BHO.28m' | ARRNERICED o E || 0008 ]
G 4 AR BB L R A & c10embl R " ;
L FEEIRGA | 0.60 X 1.28X 4255 . =32678 o | 326781
oM B " T BH0.28m’ ;
_____________________ (060 %043~ 013 "Xz /4) X 4255 = 10413 | ol 10413
w A o T (R :
I = S 0.60 X 0.50 X 4255 . =12165 oo |- 12765
B bk 8 K T BH0.28m’ ;
_____ RCA40~0 | 060 X 4255 _ =25530 | | 255300
T E % T t = 25cm m E
_______ M25 | 060 X 4255 . =025530_ | | 25530, |
i =] it T t = 10cm m E
T N = T — N 0.00} ____
= = 1| t=5cm Ig1.421 F :
__BH0.28m3_ 1% | 326.78 — 12765 . =19913 m' | 199031
B+ A B T 4t-2km ;
CBHO28m® As | MERMRICEDS = mt | 0.00;_____
7T A7 7 ) bk E B LT 2t-9.8km '
S I -1 1o - S m? | 0.00:
7 A7 7 )L NS B :
_______ M25 L BERMRICEA o E | m|_____000
A g B,  JF T|t=5cm I§L.8LLE




1. BKE LT (2TX EdH) (1—9)

% B G " =

a—p 4 g AR NN RS HAL % i &

MTiEAs ¢ 75 :

@31 T DP=0.9 k
___________________________ Loz 68 .m (L93.041.9=6.8) ..
________________________ 68 X 2 o= 1360 | 1360

T A7 7)Y W T t=10cmlL !
_____ BHO28m’ | BRERRICED T el 0000

BHOAE RRCHUEE L B A A t=10cmlL T '
L BRIRGA . 0.60 X 1.24 X _ 6.8 ... Z..506 . R 5.06! |

[ A S R - || N BH0.28m* ;
_______________________ (0.60 X039~ 009 "X m /4) X 68 = 155 .| . L1BB

w A B’ T (R :
LAY 0.60_ X 0.50 X _ 6.8 D204 . R R 2.04;____|

B o B R T BH0.28m*

_____ RCA40~0____ | __.0.60 X _ 68 D A0 | 2| 408 ]

T E % T t = 2bcm m |
_______ M=25 | 060 X 6.8 = A8 | 2|l...A408

I B t = 10cm o .
CFAERRIEAS20F | RN RIS Tl N I 0.00;_____

2‘% E T t=bcm '
_.BHO0.28m3_ R0 | 5.0 2.04 =302 ... R 3.02:

V- v I - S 4t-2km :
_BHO28m® As | RRNRICR A Tl R 0.00:_____

T A7 7V bk E LT 2t-9.8km :
S IS 11 < 1 s R 0.00:____|

T AT IV bR S :
_______ M=26 L ERERRISED | .. 0000 |

N - S | S t=5cm -




1 RKELET (2T ki)

3%

g} JE R SF Ik ¥ =

CMOEAs 9100 | o

®t+ T DP=1.10 '
___________________________ L= 93 m (2686.7=9.3) . R
________________________ 9.3 X 20 .= 1860 .. 18601 |

7 A Z 7 vk H W L] t=10emBLF :
_____ BHO.28m’ | AERIRICEA T 0008

BHOAE RRCHUEE L B A A t=10cmlL T :
S 111173+ VS N 0.60_ X 1.28 X _ 9.3 L .D. A e T4

L A S I BH0.28m* ;
_______________________ (0.60 X043~ 013 *X 7/ 4) X 93 = 228 298

b A B T (R :
kAL 0.60_ X 0.50 X _ 9.3 . Tl209 | e 279 |

[ HOR T BH0.28m* ;
_____ RC40~0___ | 0.60_ X _ 9.3 T .BB8 .. 558

T % T t = 2bcm E
_______ M=25 060 X 9 T .BB8 .. 558

i % T t = 10cm E
CFEERUEAS2OR | MERMRCES = 0.00;

* =] T t=5cm E
__BHO0.28m3_ LW | T4 T 2T T ABS |t e 4~_3_5E _____

53 mooB T 4t-2km ;
_oBHOBm® As | AERRRICEA o E | e 0.00:_____

T A7 7V bk E LT 2t-9.8km :
S I 11 i < (< S RN SO 0.00:_ .

T AT IV bR S :




2. WAkt T TR FiH) (2-1)
Al =
# 3= B = E3
= —N4% wrE WK S+ B & -1 = BT | ¥E -ES
&

ZMEE SO [1.0+0.6+0.5+1.2+1.5=4.8m= 14 2

Bl K ARV F L& 6 75X5.0m K
1SO 2+2 0.48 X 4 =1.92m 4

EF A % N K ¢ 75X 45° il
1SO 1+1+1+1+1 »100 0.14 X 5 =0.70m 675 0.31 X 5 =1.55m 5

EF W =% F — X $ 100X 6 75 #
1SO 1+1+1+1+1 5

EF Y 47 v b 075 1
ISO SUS 1+1+1+1+1 0.16 X 5 =0.80m 5

EFZ Of77 vV EE 075 il
5 5

7 T v T M F M ¢ 75 #

ANB3K T AN Ary b7y 74 [1+1+1 3 |mEIFR LA
Mo X W k& B $75 s CELT

B 7oA —h 9.8 9.8

O O v — b W=150 m
9.8 9.8

% W OorR T — 7 W=30 m
9.77 9.8

By —F AT I LY — m




2. Wk LT EifM)

(2-2)

> =
# 3= B
— 14 wmE KO+ B B B | RE S
G )
A 4.8+4.97=9.77 98
BRIz FL o B gL 675 m
HBFEER 1.92+1.55+0.70+0.80=4.97
675
5 5
AV FL U EY W T ¢ 75 n
EF (10T 445 9
Rz FL U FET 075 o
EF (20#KTF) 5 5
RV F L kT T ¢ 100 M
EF (200#KTF) 5 5
AV FLUEHRFE T ¢ 75 n
5 5
7 7 v T i F L 075 5]
oo B 3 3
WOk ¥ R E T ¢ 75 P SO
9.77 98
PR — MR T m
9.77 98
TR T — 7 i g% T ¢ 75 m
9.77 98
By —F 4 U — T m
VP& 9.8/3=4 4
BE ax i fif < U)W T ¢ 75 0
WEEE = E R BT 9.8 98
RfiA% T ¢ 75 m
%3 9.8m( ¢ 75HIVP) X 2.156kg/m=21.13 21.1
g 7T AT I REIL Y B kg
3 3
WOk K W E T 675 SR
125kg(H K AR LE FTdp720) X 37 T =375kg 375.0
A . I - ke
1 1
prct iled 2| 2tH-1H 10kmFET i




2. Wxesw L LT kM)

=] % P R - i %
____________________ (30 s w8 () i S S B IS S S R
WOk o B o+ T WTiEAs ¢ T5 AR ¢ 75 ;
______________________ L=8.2m i L=4dm_ L
080 b = 1840 | 160 ___
T A7 7 v b Y)W ] =10emBLF 5
_____ BHO.28m' | 492 & L d b= 492 | B0
B OAE ARCEUBE U ORE A A t=10cmPL :
o mESA | ea0 | 307 4l R I 9.0, |
oo T S N = | I BHO0.28m’ !
_________________________ L8T 093 bbb =ho2800 o 30 ]
b N % T Pt |
R 246 221 L = N Xy R 5.0 ___]
i T S S > S BH0.28m’ 5
______ RC400. | 492 L=l |50l
T~ J& iy L t = 25cm :
_______ MRS 92 S A2 B0
+ = s €L t = 10cm !
CRRAMSRUEAS2OR | 492 Ll =49 ol 50 ..
* IE] | t=5cm W@1.404 k- !
CPERRUSAS20F | b =L 0000 o 0.0, |
# & T| =dem iE14LLE ;
__BHO.28m3_ LA | 364 | 0.96 | i =460 o 5.0 ___]
- I S 4t-2km 5
CBHOSmt As | 025 4l b =L 025 o 03 .
7T AT 7V b E T 2t-9.8km ;
I I 7: S S SO R SRS S SR =020 ol 0.31 ___|
T AT 7 IV by

R R [ [ R

IR .




2. ke LXK EiFH) (2—4)
% B 3 -] =
-} 4 Ui AR NI RS B % & i &
O o e e o
@3 + « DP=0.90 :
___________________________ L= _ 82 m(L9+0.7+2.6+1.141.9=8.2) . R
________________________ 8.2 X 2 .o T1640 16400
7 A Z 7 vk H W L] t=10emBLF :
_____ BHO.28m’ | 060 X 82 = 492 o, 492
G BB BE L BE A 2| 10emBAT - ;
S 111173+ VS N 0.60_ X 1.24 X _ 82 .= 810 ... N 6.10] |
[ A S R - || N BH0.28m* ;
_______________________ (0.60 X039~ 009 Xz /4) X 82 = L8 | .| 18T
b A B T (R :
kAL 0.60_ X 0.50 X _ 8.2 ... T._246 ... N 246! |
[ HOR T BH0.28m* ;
_____ RCA0~0 [ 0.60 X _ 82 =492 a9
T iz T t = 2bcm m E
_______ M25 | 060 X 8.2 = 492|492
i #% T t = 10cm m |
_FEERIEAS20F | 0.60 X 8.2 LT AD2 .. 2 B 4~_9_2_E _____
% & T| t=5em #EL4SLE o 5
__BHO0.28m3_ LW | 6.10 = 246 L_T.364 . N 3_~_6_4E _____
B+ w @ T 4t-2km ;
___BHO0.28m’ As__ | ___ 4.92_ X _0.05 .= 025 .. N 0.25:
T A7 7V bk E LT 2t-9.8km :
_______________________ 025 = 02 | .. 025
T AT 7oV A Sy R




2. WdARBEE - T2 TIX i H) (2—5)
% B 5 =1 2
a—} 4 i AR I i =
R o5 | L
® + T DP=0.90 '
___________________________ L= 41 m (L2+.041.2¢0.7=41)
L mEIRGA | 0.60 X 129X 41 = 31T N 370
B Wk W Bl T BH0.28m’ !
_______________________ (0.60 %0397 0.09 "Xz /4) X 4l = 093 || 093
|2 A ® T {72 E
L EEL | 0.60 X 0.90 % 41 =221 N 2.2 |
ok o FE T BH0.28m’ ;
__BH0.28m3_ +:#) | 807 — 221 =096 B 0.96;
B+ A B T 4t-2km :




3. MKEABRBT(2T.X kL& m) (3-1)
14 5
— 14 wmE KO+ B & B ¥E | wmE
& )
HIPEPH - ISO#i#& |20 20
B 8k B Y NV Ay ke $ 100X ¢ 20 HH.
20 20
A KA HkE O F ¢ 20 1
26.0 26.0
M B v e ke = L ¢ 20 m
40 40
HI — Y 4% v b ¢ 20 |
40 40
HI1I — = ) &K 6 20 |
26.0 26.0

BT 4 T —




3. MAKBEMBBRLCLX EHH) (3-2)
y, =
4 5
=—HN% AV NI N 2 &t AT %R |
(G
HIPEP /] 20 20
K B /A A T 6 100X ¢ 20 N
HIVP 26.0 26.0
S - S 620 m
HIVP 20X 2 40
B = Y W T ¢ 20 .
40 X 2+40 X 2 160
T S # F T $20 =
26.0 26.0
By —F 4 S IAY— T m




3. HAKELT. (TR kM)

(3—3)

24 & 7 B £
a— 4 B ® Ok F ik e S
A L b lhiiildiil Lo
® ok % + T HIjtiAS 20 i
I L=300m | b
I I 60.00__E b i _i=___e000 | ¢ 60.00 ___|
T A7 7 v bYW L t=10cmPA F = '
o BHO28m’ | .00 b hh o d= 8000 | 18.00 |
i AE bROEUEE LB A A t=10cmlA T = !
L mEVRRA | 128 (0 S U IR N SO N S - Se 19 (| R 17.00___|
- AR S || T BHO.28m’ = :
I B 860 L =360 Ll 40
|2 A % T (3 = |
I -5 N (OO S A AN SN A SN SN S 4 I S 7.0 |
R, S N . BHO.28m’ =
____RCA0~0 | 800 L bbb = as00f | 18.01 |
T J& E‘g T t = 25cm = E
Ms 800 L b d = as00p | 1801 __|
i J& E‘g T t = 10cm — '
CRPESRIEAS20F | 800 bl d=soo| 180
ES I T| t=5cm MgE1.420 L - :
__BH0.28m3 1 | 9:90 i = 990 | 10.0}___]
053 + AL it} T 4t-2km — :
L BHo2sm As | 0.9 | =090 | 0.9, __]
7T A7 7 v b iE T 2t-9.8km - :
______________________ 0.90 L= 090 |09l
T AT IV by B =




3. HAKELT.(2TX kivH)

24 & 7 B £
a—p £ 4 AR NI ERS HAL is i &

O Y e ]

A+ T DP=0.90 E
U S L= 300 ML L
_____________________ 3.0 X 228000 bl el

TAT7 v Y T t=10cmbh F :
__.BHO28m’ | 0.60 X 30.0 ... =_18.00 ... N I 18.000 |

G BBCHE L B OA B loemBlE " ;
_____ JRHIAA | 0.60 > 0.95 X 30.0. . __...._____..= 1110 | I 8 (I

B HI T BHO0.28m’ !
e ]e220.60 X 0.20 X 300 il =360 ... JRCT 3.600 |

[ ® T PREERD \
______ AL | _0.60 X 040X 30.0 . =120 | 720

B oM # K T BHO.28m’ :
o RC40~0 | 0.60 X _30.0 o l_ll =_18.00 .. N I 18.00: |

N =] in T t = 25cm " |
ooooM=2s 060 X 80,0 il =_ 1800 ... N I 1_8;995 _____

i= =] A& T t =10cm " :
_PHERRIEAS20F | 060 X_30.0 . =_18.00 .. N I 18.00 |

* = 1| t=5cm #g1.420 k o :
__BHO.28m3 4% | 170 20 o llllC =990 ... JNCT 9 ;?Qi _____

7% + AL it} T 4t-2km ;
__BHO28m As | 18.000 X 0.05 = 090 o 0.901 |

7T A7 7 v b i T 2t-9.8km |
090 il =090 ... T 0.90, ___]

T A7 7 v b AL ,




4 REEAR T QTR Eim)

(4-1)
# B B =1 =
= —R 4 wmr W+ % & B = HAir| HE 5
(& #)

1 [GIE9) 1 [LosLvHE

(T8 AT 2 L A Rk 100A A 120 H AP

1 [GIE9) I E S

R AT L 2% BB 80A N 120 A LAY




4 REEAR T QTR Eim) (4-2)

A =
# B B = E3
— 14 wmE WK -+ B & H = BAr| ¥%E e
Al KK
KEAT L A
BN R
100A
1+3+1+1+1+3+1+2+1+4+2+1+3+1+1+1+1+5+3+2+7 78
[EL = 100A X 4.0m 2+H1+4+1+1+1+1+6+1+2+3+1+2+1+1+2+2+1=78 N
[+1+ LTI+ LA L L L LA T L L L T L L+ L L L L+ L L L+ L+ L L+ L+ 1+ ] 31
£} = 100A X 2.0m N
[+1+ AT LT+ LT L L LA L L L L L L L T L L+ L+ LT+ L+ ] 26
[iEA iz 100A X 1.0m A
[+1+ I+ I+ T L+ L+ LT+ 1+ ] 14
£} = 100A X 0.5m N
[+1+ 1+ 1+ 1+ 1+ 1+ 1+1 9
W = & H B % 100A X 0.25m A
142+ 1+ 1+24+2+ 244+ [+3+2+ 1+2+ 1+ 1+ 1+2+3+24 2+ [+2+242+ [+ 1+2+ 1+ [+1+1+3 54
7 %2 * = 100A N
[+ 142424242+ 24242+ 1+ 1 +2+2+2+ 242+ 242+ |+ 1+ [+ 1 +1+1+2+1 41
- JL A 100A X 90° &
1+1 2
A — z 100A X 100A ]
[+1+ 1+ 1+ 1+ 11+ 1+] 10
A — z 100A X 80A ]
[+1+1+1 4
2z X Z 7 100A ]
1+1 2
i L X §E L 100A 1
10K 1+1 2
7 v N v 100A &
7.5K [+1+1+1 4
7 v N v 100A &
THI+ AT+ T+ LT L L+ L L L L T L L+ LT+ T+ ] 22
H ja) = 100A X 20A 1
[+1+ 1+ 1+ 1+ 1+1+1+1 9
I & N v T 100A F
FH& S 10K 1 1
Tk & bin ¢ 100 p-Y
SUS 10K 1+1 2 [3[ElfE A
7 7 v T ik F M ¢ 100 L
SUS 7.5K 1+1+1+1 4 |3[Eld A
7 7 v T ik F M ¢ 100 L
VPH 7 — Vo) [1+1+1+1 4 |44
BT & (V- SFR) 6 100X ¢ 100 1




4. BB T CIK kiEm) (4-3)
71— g7 wR =t & BT HE e
1+1+1+1 ESiE
5 Y % $ 100 JE]
SUS 10K 1+1 218
7 v T T M ¢ 100 i)
SUS 7.5K 1+1+1+1 Ei]
7 v T T M ¢ 100 i)




4 REEAR T QTR Eim) (4-4)

A =
# B B = E3
— 14 wmE WK -+ B & H = BAr| ¥%E e
Al KK
KEAT oL A
18BN R
80A
1+1+1 3
£} = 80A X 4.0m N
1 1
£} = 80A X 2.0m N
1+1+1 3
£} = 80A X 1.0m A
[+1+1+1+1 5
£} = 80A X 0.5m N
1+1+1 3
W= & H B % 80A X 0.25m A
2+3+1+2+1 9
7 1% * = 80A N
2+1+1+1+1+3 9
- JL A 80A &
1+1+1 3
= 0 X = ) S0A {1
1+1+1 3
oL X  HL S0A {1
1+1+1 3
7 v N v 80A &
1+1+1 3
H ja) = 80A X 20A 1
1+1+1 3
R &F N L 7 80A F
[+1+1+1+1+1+1 7
I F% kB 80A HHL
SUS 1+1+1 3 |3ElfE A
7 T v T M F M ¢ 75 ek
VP 7 — L5 fh) [1+1+1 3 [&4E
BIT5 & (V-SFR) 675X 675 J
1+1+1 3 |48
7 g v & ¢ 75 {1
SUS 1+1+1 3 &8
7 7 v T Mk F M ¢ 75 #




4. BB T CIK kiEm) (4-5)
3 2
# 5
1 — 14 iNFi T N S B BT HE e
5%
100A. 80A
482.9 482.9
a4 & O T 100A m WETLET
32.7 32.7
a4 & O T 80A m WETLET
306 306
Y aA v ik F T 100A 5] WETLET
55 55
Y aA v Mk F T 80A 5] WETLETL
22 22
e I A s - A 100A 5] WETLET
3 3
e I A - s - A 80A 5] WETLET
9 9
RE AN L THBET 100A P-Y WEITLET
3 3
RE AN L THBE T S80A P-Y WEITLET
7 7
I 5% 8 ok ke % E T 80A P WETLET
10t# 1 15 |1 1
R AT L ATEHR FEA T K
6 6
7 7 v Y M FE L ¢ 100 5] WETLET
6 6
7 7 v Y M FE L $ 100 |
3 3
7 7 v Y M FE L 075 5] WETLET
3 3
7 5 v T M FE T ¢ 75 |
VPH 4 4
A W ok o fE T ¢ 100X ¢ 100 il
VPH 3 3
T MWy ok o g T $T5X $ 75 PN
1 1
e & BOE BR GR g TR AL PR % =X




4. REE T QLXK EirH) (4—6)

% B At " =

a—}’ 4 R ¥ R ~F ik BN | %K = H 5

TRl B Tl 2 TAT2 e RO O AN A L@ A E@E i ... d__.____.| ]
V- S Sl HT3EAs ¢ 1001 HT3EAs ¢ 1003 B TEAS ¢ 75 ! HrifiAs 6 100X ¢ 100 BFiliAs ¢ 100X 100 | ETEAs ¢ 75X ¢ 75

____________________ 1=3.5m __{ L=104.0m_ | L=7.0m i _1f&FT __ i _ S@FT__ i 3f&FT L i .

______________________ 7.00_{_ _208.00 i _14.00 | ___6.23 1 1868 | 1853 | ________ i 4 1= 27244 | ___272.0]
T A7 7V U)W T t=10emPL F =

oBHO2SW | ] RoKE R L~E S b =000 | 0.0]
S 45 BB U BGA 2 = 10emBl T = "

o _DRHUREAA | 0.59 i ____ 17.16 5 ____ 116 185 i ____ 6.93 i ____ 6.82 f i 4 = 34510 . |- 35.0]
B W EHl T BH0.28m’ -

______________________ 027 & 798 i 059 & 061 ;i 1.8 & 1.8 i i 4 = 130 .| 13.1]
2 A B T R =

_____ AL b4 065 f 335 1 329 4 i b 4= 1290 .| 7.0
B M R T BH0.28m’ -

o RCAA0~0 Ll l__ L59 i ___. 478 . YR N SRS S AN e 11 -J R 11.0]
T B ¥ & T t = 25cm =

______ M25 105 8120 i 200 4159 i 478 4Tl i i 4= _ARM3) o | 450
- - S t = 10cm =

FASRIEAS2R] ] ROKE R L~E S =000 | 0.0]
* =] T| t=5cm #g1.420 F _ m

FASRIEAS2R] ] ROKE R L~E S =000 | 0.0]
* =] T| t=dem #g1.420 _ m

______________________ 017 ¢ 468 & 032 . i b i o= 5000 e 5.2
S N - s RC40~0 =

_BH0.28m* t#b | 0.59 i ____ 17.16 5 ____ 116 120§ ____ 398 .. 353 4 d 4 =__2T220 . | 27.0]
kb W BT 4t-2km -

BHO2SmS As | ] BOAW ELAED =000 | 0.0)
T AT 7 )V biE T 2t-9.8km _

_________________________________________________ BAR LT AED =000 |00
T AT 7OV by H =




4. REE T QLXK EirH)

(4=7)

a—} g AR NI ERS HAL B B W &
B As 6100 | e ]
7-1 + T BT

S O OO 1t 1SN RN NSRS

S e 15 B2 N 41 O 7.00)
T A7 70 bW T t=10emBAF

___BHO.28m’ __| _______ e N S S 2 0.00]
i 2 U L RA x| =10emBAF "

S 13- L7557 N 0.30. X 0.26 X__3.5__£.030 _ %030 X__3.5 ... =059 . IR 0.59]
) A M - | . BHO.28m’

) (030 %0307 003, X x4 X 35 =020 I 0.27]
W A = T (REED

______ M-28 030 X 3D D L0 ] 2| 105

E fl:’% iz T t =10cm m
FIESRIEAS208) E e N S S m? |ee--- 0.00]
=] T| t=4cm #@1.400 F

_____________________ 030 X016XxX35 ... =01 e oo 017
o a AN B T RC40~0

_BH0.28m3_ R | 0.5 2059 . IR 0.59]
oo+ m BT 4t-2km

__BHO.28m’ As | . = < N 0.00]
T AT 7oV b E T 2t-9.8km

_________________________ R R A T |ooo000]
T AT 7S B




4. REE T QLXK EirH)

(4—8)

a—} g AR NI ERS HAL B B W &
B As 6100 | e ]
(-1 + T T

o L= 104.0_ m_(5.074.047.0+3.5¥6.047.0115.0+10.046.015.0+3.0+5.6+9.0+4.0+6.0+4.0+4.0=104.0) __________________|  |________]

e IO X lllll..7208.00_ ... m |----208.00]
T A7 70 bW T t=10emBAF

___BHO.28m’ __| _______ e N S S 2 0.00]
i 2 U L RA x| =10emBAF "

S 13- L7557 N 0.30 . X 0.25 X_104.0_+_ 030 % 030 X _104.0________________ .. = 1116 . I 17.16]
) A M - | . BHO.28m’

) (030 X030 003, X x4 X 1040 = T8 I 7.98]
W A = T (REED

______ M-25 030 X 00 LD 3L20 . 2 |....3L.20]

E fl:’% iz T t =10cm m
FIESRIEAS208) E e N S S m? |ee--- 0.00]
=] T| t=5cm #@1.400 k

_____________________ 030 X015 X1040 .= 468 | | 468
o a AN B T RC40~0

JBH0.28m3 _ ERY | 7.6 oD MTAG . I 17.16]
oo+ m BT 4t-2km

__BHO.28m’ As | . = < N 0.00]
T AT 7oV b E T 2t-9.8km

_________________________ R R A T |ooo000]
T AT 7S B




4. fiEE T QLK EdH) (4—9)
% E 3 =1 &
a—} g AR NI ERS HAL B B W &
M AS 0TS | e
(-2 + T BT

L= 10 m (5.002.0727.0) i ]

S S S ¢ 211 N 14.00]
T A7 70 bW T t=10emBAF

___BHO.28m’ __| _______ e N S S 2 0.00]
i 2 U L RA x| =10emBAF "

S 13- L7557 N 0.30. X025 X__7.0_ £ 030 %030 X__ 7.0 ______ .= M6 . IR 1.16)
) A M - | . BHO.28m’

) (030 %0307 009, X /A X T0 =059 I 0.59]
W A = T (REED

______ Mo28 030 X T L2000l 2 |._...2.10]

E fl:’% iz T t =10cm m
FIESRIEAS208) E e N S S m? |ee--- 0.00]
=] T| t=5cm #@1.400 k

_____________________ 030 X0156X 7.0 . ......=.032 e oo 032
o a AN B T RC40~0

_BH0.28m3_tR>_ | . U D 08 L S IR 1.16)
oo+ m BT 4t-2km

__BHO.28m’ As | . = < N 0.00]
T AT 7oV b E T 2t-9.8km

_________________________ R R A T |ooo000]
T AT 7S B




4. R T QTIX k) (4—10)

% B G " =

=M A& P IR NI R BAL (% &) i B

BT As ¢ 100X ¢ 100

ARSI TD

____________________ 1.0+ o814+ 02+ 13 )X 2+ 06 X1 =62 | ., |... 623
T A7 7V U)W T t=10emPL F

o BHO.28m’ | _______ i N S R 0.00]
A S BB L BEA 2 =10emBlF -

B 17 S (L0 X084t 1.3 X 06 )X__1.160 X L __ T L8 . T 1.85)
) A M - || . BHO.28m’

)10 X814+ 13 X 0.6 )X _ 0400 - 0114 X x4 X270 ) X1 = 061 T 0.61]
W A = T (REED

_____ gL | (10 Xosua+ 13 X 06 )X 041 X1 ... =065 | | 065
BBk 3 R T BH0.28m’

.. RC40~0 ___ |/ C_LO_ X8+ 1.3 X 0.6 ) X 1 TR N L.59)
I - S S t = 25cm m

______ Me25 ] 1.0 X8t 13 X 0.6 ) X L= 189 ] 2 |__..L59
B B T t = 10cm m

FIESRIEAS208) e N S S CIN - 0.00]
= = 1| t=4cm #gE1.484 |k

_BH0.28m3_ R | . L85 =065 L T_L200 . T 1.20]
oo+ m B T 4t-2km

__BH0.28m® As | _______ e N T 0.00]
T AT 7oV b E T 2t-9.8km

_________________________ R R TR i) | 000]

T AT 7 )v bR Gy B




4. R T QTIX k) (4—11)

% B G " =

=M A& P IR NI R BAL (% &) i B

BT As ¢ 100X ¢ 100

KWK I T.O

S R S SO 2. O R I

__________________ (1.0 #0814+ 02+ 13 )X 2+ 06) X3 . =1868 | . |... 1868
T A7 7V U)W T t=10emPL F

o BHO28m’ | _______ e N S S 2 | 0.00]
i 2 U L RA x| =10emBAF "

o PEHIRRA | (10 xXo8ut 1.3 X 06 )X 1449 X3 ... 893 . T 6.93]
) A M - | . BHO.28m’

10 X0814+ 13 X 0.6 )X 0399 - 014 X x4 X270 ) X3 = 183 T .83
W A = T (REED

_____ geAEL (1.0 X084t 13 X 06 )X 070 X3 . ........=.33 | g |....335
BBk 3 R T BH0.28m’

.. RC40~0 ___ |/ C_LO_ X8+ 1.3 X 0.6 ) X3 T ATS .. N 4.78]
I - S S t = 25cm m

______ Me25 ] 1.0 Xosut 13 X 0.6 ) X3 T AT ] 2 |.._4T8
B B T t = 10cm m

FIESRIEAS208) e N S S CIN - 0.00]
= = T.| t=5cm #g1.4L4

_BH0.28m3 R | 6.93 338 o LLLlTLBB8 .. T 3.58]
oo+ m B T 4t-2km

__BH0.28m® As | _______ e N T 0.00]
T AT 7oV b E T 2t-9.8km

_________________________ R R TR i) | 000]

T AT 7 )v bR Gy B




4. REE T QLXK EirH)

(4—12)

% E 3 =1 &
a—F 4 e AR IR S A% B i &
R R ] Y R I
RIEK I T

S R S SO 2. O R I

__________________ (1.0 #0789 + 0.2+ 13 )X 2+ 06 ) X3 =185 | . |...1853
T A7 7V U)W T t=10emPL F

___.BHO.28m’ | . B o N < - I 0.00]
i 2 U L RGA x| =10emBAF "

o _DRHIREIA ] (1.0 Xom89+ 1.3 X 06 )X 1449 X3 .= 68 . INEIN 6.82]
L) A M - | . BH0.28m’

(1.0 X089t 13 X 06 )X 0399 - 009 ‘Xz, 4x270) x3 = 18 INEIN 1.83]
W A = T (REEHD

_____ geEL (L0 Xoms9+ 13 X 06 )X 070 X3 =329 ] e o329
B ok 3 R T BH0.28m’

___RC-40~0 ___|/ (1.0 X089+ 1.3 X 06 )X _3 o TOATL . I 4.71]
I - S S t = 25cm m

______ M25 | (1.0 Xom9+ 1.3 X 06 )X 3 AT 2 |oo_ 4T
B B T t = 10cm m

FIESRIEAS208) E e N S S CIN - 0.00]
= = T.| t=5cm #g1.4L4 |k

_BH0.28m3_+#) | 6.82 329 L T3B3 ... IUE 3.53]
oo+ m B T 4t-2km

_BHO28m® As | e SRR N 0.00]
T AT 7oV b E T 2t-9.8km

_________________________ R R i) | 000]
T AT 7S B




5. K E AR T (2 TIX Edm) (5-1)
# 7 -t
——RN4 wmrE WK+ & &t = BAL| & =
&
1HE-2)E 266.0 266.0 |3[alfdE
AKEHARA VZFLLVE 6 20 m
20 20 [3[EIfEA
PE 4y ik Kk #& H ik T ¢ 20 &
77 77 |3[ElfE A
A U = R ¢ 20 &
20 20 [3[EIfEA
A — % H i F| $20PX ¢13X90° ]




5. ARMGAREAR LT i) (5-2)

% B G B =
=

o —4 mE R % & B AT EE wE
G-
266.0 266.0
ARz F LU EAERL ¢ 20 m WETLED
T7TX2 154
KUz F L&Y WL ¢ 20 H
20+77 X 2+20 194

RIzFLUEHTFET ¢ 20 5] WETET




5. ke KE LT (2T EdH)

*

a—} 4 G Bk F WA H B i =
— 1 I '

[ S - S e FTiEAs 620
S I o= U S I SN IS SRR SNSRI SR R NS .
e TB20 S T820) 8.0, ]

7T A7 7 v U W T t=10cmPA :
______ BO28w) ___|ATEIoEUL =000 o 00|

S BB L ORE A A =10emBAT ;
______ WRHIRGA | 645 |l d=.__ a5 60|

U A S N : | R BHO0.28m’ :
I IS O (S SRS S S N SRS SNSRI =S I (:| IR S 2.0 ___]

12 A % T (R 3l E
IS ¥ S NS O 0 S A SO S SN ORI E-SD 0 | N I 120, ___|

= = i €T t = 10cm E
R A0 | b d=o 0008 0.0i |

#* =] .| t=5cm #@1.4L) I :
| FEBRUEAS20F |RATEIES = 000f | 0.0 ___|

J T| t=4cm IE1.400 1 E
N NN N S S SRR NN SRR ORI SN~ e N 10, |

e an A T RC40~0 :
| BHO.28m3 £b | 645 | 4= 648 o 6.0, ___]

Vs A v VS S 4t-2km 5
|__BHO.28mY As _ MAEE RSl i=o000f o 0.0:____|

T A7 7L b TE WL 2t-9.8km i
e 000 005 ]

T AT 7V R Gy ;




5. ke KE LT (2T EdH)

% B E B =
a—p 4 ﬁﬁ ¥k F s i =

L MDEAs 020 | ]

= + T B :
___________________________ L= 390 m b ]
_______________________ 89 X2 L2 T8200 T80 ]

7 A7 7 v s kT t=10cmBL F :
______ BHO.28m’ | BERMRICED T o000 ]

G 48 B M B L RS GA A -10emBl T " ;
______ IRGA ] . 030X 0.25 X__39.L_+ 030 X 0.0 X _39.1 . __ = 645 .| | .64 |

B oW Hil T BH0.28m’ :
_______________________ 030 X015 X390 = N6 e L LTel

s A =S €T PREERD ,
M2 030 X890 = LT3 ] 2 . 1173 |

- - S t = 10cm m !
| FEERUEAS20F | BERMRICRA . S O 0.00; ___|

= & T.| t=5cm #E1.4LL I '
_______________________ 0.30._ X_0.15 X 39.L__+_ 030 X 0.15 X _39.1 .= 352 .| o|_...352 ]

e f B T RC40~0 5
| BHO.28m3 £ | 645 =645 ] N 6.45;____|

oo+ n BT 4t-2km !
| BHO28W As | MERMEICRA. ... ] . 0.00;____|

7 A 7 7 ) b iE L 2t-9.8km '
e EERMRICRA .. S Y 0.00;____]

T AT 7V Ay :




